Anrebpaunyeckne ypaBHeEHUS

ABTOpP: yunTENDb MaTeEMaTUKN
CtaceBund AnekcaHapa BanepbeBHa




MaTtemarnyeckas pasMmuHKa
cornaceH «+», He corfaceH «-»




MaTtemarnyeckas pasMmuHKa
cornaceH «+», He corfaceH «-»

1) YpaBHeHNE
X°—7x+6=0
Ha3bIBaETCH
KyOunyeckum.




MaTtemarnyeckas pasMmuHKa
COrnaceH «+», He cormnaceH «-»

2)YpaBHeHue
6x* +5x° -10x+2=0
Ha3bIBaETCH

YypaBHEHUEM
YETBEPTOU CTENEHMN.




MaTtemarnyeckas pasMmuHKa
cornaceH «+», He corfaceH «-»

3) Bcemun genntenamu
yucna 12 asngatrca 1,
-1,2,-2,3,-3,4, -4, 12,
-12.




MaTtemarnyeckas pasMmuHKa
cornaceH «+», He corfaceH «-»

4) Bcemu
nenuTenamMmm ymcna 6
asnawTca 1, -1, 2, -2,
3, -3, 6, -6.




MaTtemarnyeckas pasMmuHKa
COrnaceH «+», He cormnaceH «-»

5) Bcemun kopHAMU
ypaBHEHUSA

(x2—4)(x + 3)(x - 4)=0
ABNAOTCA YMCna
2,-3,4.




OTBETDI



BbIlNOJIHNTb OEJIEHUNE

(2X* = X2+ X?2= X - 5):(X + 1)



OTBET

2X3— 3X?+ 4X - 5.



PEWWTE YPABHEHWE

X3+ 5X?—3X-15=0.




OTBET

X=2 X=-5X=43,
X =-+3



CAMOCTOATEJIbHAA PABOTA

1 BAPUAHT 2 BAPUAHT

2X3-9X2+7X+6=0 BX3—-X2+5X+2=0

X




OTBETDI

1 BAPUAHT 2 BAPUAHT
2, 3, -7 1, =%, -%




[lomalluHee 3agaHune

Ne 484(1,2,3), 608




